
What type of Device does my Patient Have? 
 
If your patient does not know the manufacturer for his or her device and does not 
have a device ID card, there are several ways you can determine the manufacturer. 

1. Look at the CXR and use the manufacturer specific identifiers 
a. Use zoom to enlarge the device in the CXR.  Each manufacturer has a 

unique alpha-numeric or symbolic identifier—see image below from 
Jacob et al (also see lecture #9 for more info) 

b. Use the paper “Cardiac Rhythm Device Identification Algorithm using 
X-Rays: CaRDIA-X by Jacob et. al.)”  to help you if the identifier is not 
clearly discernible (link to PDF of Paper) 

 
2. Look at the CXR and use the “Pacemaker-ID“ phone application 

 
3. If there is no CXR or the CXR methods above failed you can use a magnet to 

help you by following these steps: 
a. Before using the magnet, place the patient on an EKG monitor.  
b. If the patient’s intrinsic heart rate is > 85, do not use this method.   
c. Place the magnet on the patient’s device 
d. If the paced HR does not change, the device is most likely an ICD: 

i. If there is a continual beeping tone, the ICD is Boston Scientific 
ii. If there is a monotone (or alternating high low tone) for 

approximately 15 seconds the ICD is Medtronic 
iii. If there is no tone, the ICD is most likely either Abbott/St Jude 

or Biotronik 
e. If pacing begins or the pacing rate increases, the device is almost 

certainly a pacemaker and the manufacturer depends on the pacing 
rate: 

i. If the paced HR is 85 the pacer is Medtronic 
ii. If the paced HR is 90 the pacer is Biotronik 

iii. If the paced HR is 96 the pacer is Sorin 
iv. If the paced HR is 98 the pacer is Abbott/St Jude 
v. If the paced HR is 100 the pacer is Abbott /St Jude or Boston 

Scientific 
vi. As the battery in pacers depletes, the paced HR will eventually 

decrease.  Some change by slowly decreasing toward the 
battery end of life rate (Boston Scientific and St Jude).  Others 
change in a binary fashion (Medtronic to 60 and Biotronik to 
80).   
 

 


